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QUESTION 1

Which of the following best describes an optimized state of operational process, as related to the Operational Risk
Management solution? 

A. Compliance efforts are reactive and just-in-time 

B. Resilient strategies adapt quickly to threats and disruptions 

C. Each control deficiency identified in loss event analyses and self-assessments is addressed 

D. Risk assessments and reporting are limited and inconsistent 

Correct Answer: C 

 

QUESTION 2

Why is it important to configure Audit Management according to a specific organization\\'s priorities? 

A. The organization\\'s priorities help drive meaningful action based on the criticality and value to the organization 

B. The organization\\'s priorities should not be folded into the product so they can better evaluate Market drivers 

C. Audit Management should not be configured at all- it must be used exactly as installed 

D. The organization\\'s priorities are determined by the Audit Staff, resulting in an effective bottom-up approach to audit 

Correct Answer: D 

 

QUESTION 3

When building an application, why might you use a tab set? 

A. To group related fields using custom HTML code 

B. To better organize History Log data 

C. To group related fields for administrative purposes only 

D. To group related fields into logical arrangements 

Correct Answer: C 

 

QUESTION 4

If you have multiple searching relationships in your search, which search results format is best for a non-grouped
format? 

A. Row 
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B. Summary 

C. Column-Flat 

D. Column- Hierarchical 

Correct Answer: C 

 

QUESTION 5

Which of the following application statuses will remove the application from view for all end users? 

A. Offline 

B. Retired 

C. Development 

D. Archived 

Correct Answer: B 
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